8 7 6 5 v 4 3 7 1

REVISIONS APPROVALS
028 (714mm) DIA - ADD TEXT FOR FRONT VIEW .S.
REMOTE ON/OFF 1 HOLE PER BUS BAR 11.25 4.25
ENABLE SWITCH [ 285.7mm ] [ 108.0mm ]
J . 2 g .
ST @}nig% ® ® ®
T 4 POSITION OUTPUT | 5 E=PUEES
V OUT ADJ. © SHiely 0 - TERMINAL BLOCK ﬁ \Q EaQ@@@@@@@ L1009 S ESS
QoIS Efoe 1.10 o @O0 209089028009
oV ADy. sl lse Hmy \ 8 AR OO
e ; 4 DRV oS 00886
NDIGATOR_| (E D ||| BT 00900008 ==5")
LIGHTS \@@ = WAEASIAY M 4.75 @j@(bq@(j@OOOOOOOOOOO@@Q%O@
22 | GEEe | 205 eciesssse =t
s1: P 1 POSS | 150000000555
o L% |Degle . I S50 Noseuneeses
///:Eﬁ§§@% R | e eieieie RO S
2 POSITION AC INPUT 9F o %6 =
TERMINAL BLOCK /. &% St wi OO0 SISCAE)
SCREW SIZE #6-32 © @ E
#6-32 SCREW FOR/k © 12PN B : -
LINE CORD CLAMP FRONT VIEW SIGNAL CONNECTOR 10.25 REAR VIEW
OPTION BOARD [ 260.3mm ]
#6-32 GROUND
STANDOFF 15 PIN "D"
CONNECTOR RECEPTACLE SIDE VIEW
VAR
[
o /T m J
® M4 THREADED INSERTS
25" MAXIMUM SCREW PENETRATION
(4 PLACES)
@ B B W
©
<
0
[?'65591mm ] 2
AIRFLOW © T
(SEE NOTE 1) NOTES: Ny
1. CUSTOMER MUST PROVIDE ADEQUATE CLEARANCE (50MM MIN.) ]
AT FRONT, SIDES, AND TOP SURFACES FOR AIR FLOW.
2. CUSTOMER MOUNTING SCREWS (M4x0.7) MUST NOT
PROTRUDE INTO POWER SUPPLY BY MORE THAN 1/4" [6MM].
3. SEE INSTRUCTION MANUAL FOR ADDITIONAL INFORMATION.
| 4. DIMENSIONS ARE IN INCHES, EXCEPT DIMENSIONS IN [] ARE IN MM. Ny 55 oTHERWEE SPEOED
(> - - B - W :%E?f&%lzs A[?IIEE(:ZIMALS [AN]GLES J DATE TD I<. Lamb da
@ " g((x t DRAWN \ siu 03/18/05
- WA APPROVALS OUTLINE DRAWING,
. .625 ENGR S. McDermott 03/18/05 LZSa 500
[ 15.9mm ] FINISH ENGR .
[ 16528mm ] -l [ :73608mm ] N/A SAFETYT. Doudousakis 03/18/05 SIZE WG NO. LZS 500 OUTLlNE R;/.
L. DINOSO 9/29/05 a -
BOTTOM VI EW DO NOT SCALE DRAWING QA S. ZMINA 9/30/05 S(BLE LAMBDA CONFIDENTIAL SHEET

8 7 6 5 f 4 3 2 1




